b
€rp.
) %J—D@

* 97T o N o

b) M=

,QJ
Q/m@ﬁ> [ﬁﬁ\—

— _ 2 x +b
R
jo-vet




2.4 Distance Between Points

Recall:
The Pythagorean Theorem: the square of the hypotenuse is equal to
the sum of the squares of the other two sides in a right triangle.

0t bt o

o X 02 +1y> —c~

cm 26‘\(0 :CL
V286 =c, >0

14 cm

What is the distance between the points A(2,5) and B(7,1)?

A2.5) We can create a right triangle and use
’ the Pythagorean Theorem.
. \\ = |
b \\ Add the point C(Z, [ ).
= \UB(7,) >
<8 o3 2
S (A8)" = (aF +(#0)
(AR = 42 g2
ABT = +25
/\62 — ‘(iﬂ
RN o AT _>A[§ — \jfﬂ/
NPPrON —>AR 2 (o



We can derive a general formula using the same method.

P2 (X2,Y2)
b Afﬂ /V?§{>

P1(x1,1) % [

|

4

’ ok
N, oL N \
(P, PQ = (%, » Mgz g?
PP = ﬁ@_/@ﬁ(g;@

\\ (\j
C

Distance Formula: @ = \/(xz — X, )2 + (y2 -y, )2 \ MEMORIZE!




(0,0)
Ex. 1 What is the distance from the origin to the point (-1,-4)?

A= J Ga) (g™
—:_\)(—l o)+ (“4-0)*
-V +io

— ’7 exact

— Lé ‘ &Ppm%'mMafgq

Ex.2 Find the length of the line segments with the following

endpoints. dm% — L@@:A%

a) A (3)0) and B(3)2) b) C(-4,7) and D (3,1)

Ol = J&z —><>Z+<gr5); o= (Xz\vXD? +W:_
G- y+(1-D*

B R RN vy
=\ 4a+3%

_ WD =3B

= AU

|72 =
\ 26-2
e

(&X\E —_—




Ex. 3 Given A (2, -3) and B (-1, 6), determine:
a) LAB by M, ) myy

fr . ‘\466: X1+ Xz ) M
2

Ex. 4 Determine-the length of the median from vertex A of a triangle whose
vertices arB(5,-3), and C(-7,7).
C
7>

pp = sz/@“r (ga—ﬂbl
2= (-3
= \J DT 1 (y)®
2 b
=\

Clam = 4. 10?77
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